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QUESTION 1

In the OpenFlow network switch model, the underlying data channel opens the flow table\\'s public API to the outside
and uses the SNC to control the entire network.

A. TRUE
B. FALSE

Correct Answer: B

QUESTION 2
Which of the following statements about NetStream logs are true? (Choose all that apply.)

A. NetStream logs have V5, V8, and V9 formats. The difference between V5 and V9 is that V5 is fixed and does not
support traffic aggregation, whereas V9 supports traffic aggregation and data format customization.

B. NetStream packets use UDP encapsulation and unlike SFlow, NetStream does not support traffic sampling.
C. A field within NetStream packets can distinguish whether traffic is inbound or outbound.

D. The start time of a NetStream flow is the time that elapses between January 1, 1970 at 00:00:00 to the moment the
flow is created and expressed in seconds.

Correct Answer: BC

QUESTION 3

Which OpenStack component is responsible for managing virtual networks and determining the ID of the server that the
VM IP address.

A. Nova

B. Neutron

C. Cinder

D. NetMatrix
Correct Answer: A

Reference: https://docs.openstack.org/nova/queens/admin/networking-nova.html

QUESTION 4
Which of the following is the port number used by VXLAN packets?

A. 4786
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B. 4787

C. 4788
D. 4789

Correct Answer: D

QUESTION 5

What kind of packet is used by BGP to transmit version number and AS number information?
A. Open

B. Update

C. Keepalive

D. Notification

Correct Answer: A

Reference: http://www.ciscopress.com/articles/article.asp?p=2756480andseqNum=3
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